El! pto p 621-010 Fliptop AIR

Safety
and
Assembly instructions

Edition 1.1 www.fliptop.se
2023 info@fliptop.se



www.fliptop.se

Fliptop

621-010 Fliptop AIR

Thank you for purchasing a Fliptop AIR
This document includes assembly instructions for Fliptop AIR.

There are variants depending on length, width and the number of arches.

In case of uncertainty or questions, we or the reseller would be happy to provide you with support.

-

Table of Contents

Table of Contents

Handling Instructions

Article list

Montage AIR System

to push out with wires.
Middle support Simple
Middle support Connected
Exploded view

Pneumatic scheme 1 cylinder
Pneumatic scheme 2 cylinder
Safety Plate

CE Declaration

s.1
s.2
s.5
S.6
s.19
s.21
s.22
s.23
s.27
s.28
s.29
s.30

-

Important

Transport damage must be reported to the carrier. It is
important to check the packaging when the goods arrive,
if it is damaged, a notification must be made to the driver
at the time of delivery. It is the carrier that is responsible

for damage that occurs on the goods during transport.

The mounting must be done according to the mounting
instructions for the material warranty to apply.

Guarantees

There is a 1 year material and function guarantee from us.
For the warranty to apply, the product must be mounted

according to our instructions.

-

Edition 1.1
2023

Safety

Operating instructions must be read carefully before using the

system. When the movable arms are operated without knowledge

serious personal injury may occur, or the system itself may be
damaged

www.fliptop.se
info@fliptop.se



FII pto p 621-010 Fliptop AIR

Handling instructions Fliptop Air 621-010

General information

Fliptop Air is a roof system for covering essentially tipper trucks and containers. Semiautomatic
equipment consisting of two side panels with control arms, the ends are connected by steel tubes and
covered with PVC fabric. The structure is opened and closed with one or two pneumatic cylinders that run
together.

Fliptop Air is mainly intended for the coverage of tipper trucks and containers. This however does not ex-
clude other uses.

Operating instructions

Please read this documentation and familiarize yourself with the equipment before using it.

Fliptop Air systems operated by pneumatic power, usually from a vehicle and can only work if the vehicle

is started, at such an installation, the system can be operated from the cab in some cases. The equipment can
then either run with radio, push buttons on the electrical cabinet or from the cab. Other options are to operate
with a manual valve adjacent to the platform.

This means that the equipment can be operated without the vehicle is started, however, when servicing and
maintaining the compressed air shall be switched off so that the equipment can not be operated. This also
applies to other work where you can get hurt if the system moves.

When you open and close Fliptop Air you need to oversee and make sure that no one can get
damaged. The pneumatic pressure-driven movements are very strong and can cause very serious damage if
something or someone becomes pinched or hit. If your Fliptop Air has radio control be extra careful, make
sure to keep an eye on the transmitter so that no one inadvertently turn it on and maneuvers when someone
is near moving parts. It is also important not to open or close the system during driving. If you must perform
service or other work on the system, it is imperative to break the supply of air, so the system have no
possibility to move. If the system is locked with straps, do not forget to loosen these before operating.

Important information !

In strong winds, it is necessary to clamp the opening side of Fliptop Air with straps, there is anchor rings

in the front and back, use both to avoid the system beeing sucked up because of the negative pressure that
occurs when the wind passes the dorsal ridge. The wind can bend the connecting rods and seriously damage
the system. During loading and unloading, it is important to keep an eye on the load so it wont end up in the
front or rear end’s link mechanism, if this happens, a cleaning must be done before using the system.

If the load fills the cargo space and tends to crumble into a coherent mass there’s a risk of a vacuum forming,
this can bend the tubes in the bed and severely damage your system, if this risk exists then open the roof to
let in air before unloading.

During loading and unloading of tons of heavy stone, roots, or other things that can smash the ends it must
be done with care. Fliptop Air does not tolerate plenty of hits at the rear end of the unloading, if there is a
middle support mounted in the center it can also be damaged during loading and unloading. If injuries occur,
they shall be repaired immediately in order not to worsen the condition.

Edition 1.1 www.fliptop.se
2023 2 info@fliptop.se



EII pto p 621-010 Fliptop AIR

Control every week

We recommend that Fliptop Air system is reviewed 1 time per week when using the system

continuously, for this check, it is advisable to first check that the fabric is not damaged. Fliptop Air

system is secured in all the corners and at the two long sides, make sure the fixings are secure and that no
bolts are missing. Open and close the system to control the movements are smooth and quiet, if not adjust
the throttles for speed. Open the system and check that the ends are clean of debris and lots that may have
ended up there during loading or unloading, it is necessary to clean these. The gables linkage should also be
checked for damage and looseness. Fliptop Air has one or two penumatic cylinders, check for leaks at the
cylinders and hoses. If you find damage, it is important to repair as quickly as possible, contact your local
dealer or repair shop.

Maintenance every month

We recommend that Fliptop Air is greased up once per month with a grease gun and oilcan, it is important
that all the system links go easy. If the system is lubricated and goes easily, it will have a long life and low
maintenance cost. Normally there is no other maintenance on a Fliptop Air system.

Saftey instructions

The equipment may only be operated by personnel with adequate knowledge of the equipment and
understanding of the risks arising from the operation of the pneumatically driven movements.

The minimum requirement shall be review of this documentation, and a review of the equipment before the
using of it. At service and maintenance the pneumatics must be switched off and disconnected so that the
equipment can not be operated when there is a high risk of crushing when the equipment is operated.

Note that when maneuvering, always keep an eye not to cause damage to equipment or people.

Edition 1.1 www.fliptop.se
2023 3 info@fliptop.se



FII pto p 621-010 Fliptop AIR

Installation Instructions

The Fliptop Air system can be supplied as a kit or pre assembled.

When buying a kit, a complete installation instruction of the system is included in this

documentation. When buying the pre assembled system, there is only installation of the system that remains.

Upon receiving the shipment, it is important to verify that no visible damage or other damage
occurred on the equipment, notify in this case the carrier immediately, alternatively the equipment supplier.

When installing Fliptop Air, it is important to fasten it with at least 2x M8 bolt in both of the two loose
corners, and that you put at least 3pc clamp on the tube on the firm side, one at each end and at least one in
the middle, depending on length several might be needed. Carefully follow the instructions in the installation
instructions.

It is also important to go through all pneumatic fittings and see that they do not have any leaks. You should
also check that the penumatic movements do not go too fast, normally the throttles are included with the
delivery of Fliptop Air, with these the rate is adjusted to a peaceful movement, if the system runs smooth, it
will have a long life and low maintenance cost.

Never use the system without good overview to avoid that people get injured
or that damage to the system occurs.

Edition 1.1 www.fliptop.se
2023 4 info@fliptop.se



EII pto p 621-010 Fliptop AIR

Article list Fliptop AIR

a

Gable with cylinder )

1-2pc

if 2pc: Then the gable without
cylinder is not included,
however, a dividingvalve
is included

b Gable without Cylinder
Ipc

¢ Steel tube 60x60x2
4pc

d Steel tube 50x30x2
Ipc

e Tarpoulin and montage screw
Ipc
- J

Which set of screws that are included is determined by the configuration being built. At simple arch
support 621-314 is used, at connected arch support 621-315 is used, and at montage without arch
support 621-301 is being used.

(Screw kit AIR 621-301 ) (Screw kit AIR 621-314 ) (Screw kit AIR 621-315 )

Ingér: Ingér: Ingér:

M8x20 x4 M8x20 x4 M38x20 x4

M8x75 x2 M8x75 x2 M8x75 x2

M8 BRB X2 M8 BRB X2 M8 BRB x2

M8 Nylock  x2 M8 Nylock  x2 M8 Nylock  x2

M10x50 X2 M10x50 x4 M10x50 x4

M10x75 x12 M10x75 x12 M10x75 x24

M10 BRB x28 M10 BRB x36 M10 BRB x56

M10 Nylock x14 M10 Nylock x18 M10 Nylock x28

Tie down ring x2 Tie down ring x2 Tie down ring x2

Rope clamps x4 Rope clamps x4 Rope clamps x4

Throttle valve x2 Throttle valve x2 Throttle valve x2

- J - J - J
Edition 1.1 www.fliptop.se

2023 5 info@fliptop.se



E!! pto p 621-010 Fliptop AIR

Assembly instructions Fliptop AIR

Wide

\ \

1 Lenght

Adjust the width of the end pieces by first adjusting the fixed side.
Then cut the tubes (60x60x2 4pc and 50x30x2 1pc) Length = L - 330mm at one cylinder.
When two cylinders is the deduction Lenght = L - 440mm.

Remove burrs from the pipes inside and outside, and tape 3 of 60x60x2 tubes like the picture above

Edition 1.1 www.fliptop.se
2023 6 info@fliptop.se



El! 621-010 Fliptop AIR

Place the tarpoulin with the outside up and push in the three 60x60x2 tubes with tape ends first.
(not to damage the fabric)
(if your Fliptop Includes Arch support you should carefully read the instructions provided)

Thereafter bring one of the gables, start to shoot in the fixed tube (50x30x2)

Edition 1.1 www.fliptop.se
2023 info@fliptop.se




El._! 621-010 Fliptop AIR

Bring the other gable and push in the tubes into it.
if you must have a flap on the end should be installed before this step.

Edition 1.1 www.fliptop.se
2023 info@fliptop.se




El! pto p 621-010 Fliptop AIR

Be very careful when measure the distance before drilling holes and mounting it togheter.

The side with 50x30x2 steel tube shall be mounted with M10x45 (1pc) and a M10 locknut (1pc).

NOTE! Dont screw the bolts to tight, cause they will be taken out and back again when the tarpoulin will be
mounted.

Edition 1.1 www.fliptop.se
2023 9 info@fliptop.se



EII pto p 621-010 Fliptop AIR

The side with 60x60x2 shall be mounted with M10x75 (1pc), Tie down clamps (1pc) and M10 locknut

(Ipc).
NOTE! Dont screw the bolts to tight, cause they will be taken out and back again when the tarpoulin will be
mounted.

Edition 1.1 www.fliptop.se

2023 10 info@fliptop.se



Fl._! pto p 621-010 Fliptop AIR

e e L | ST T T ll'-l..'l..m.lu l-.._.l T P we! )

AN -"'""".I-.'.'j.. it t v

When the outer tubes are mounted, the inner tubes can be in need of some adjusment.
when the outer tubes is fixed, the outer tubes shall be drilled and screwed, first check that all the arms are
parallel, if not this should be corrected.

Each tube (the three inner 60x60x2) must now be drilled like the picture, and stuck together with M10x75
(1p), 11x28x2 (2p) M10 lock nut (1p) per tube.
Be screwed from the side, the tarpoulin shall not be screwed to the tubes.

Edition 1.1 www.fliptop.se
2023 info@fliptop.se




El! pto p 621-010 Fliptop AIR

Center the tarpoulin, equal overhang front and rear, and an equal measure of the sides.

Edition 1.1 www.fliptop.se
2023 info@fliptop.se




www.fliptop.se

Fl I pto p 621-010 Fliptop AIR

Plastic strips montage instruction

Begin with inserting the plastic strips into the pocket for the tube, the middle plastic strip shall go outside the
gable, as seen on the picture.
NOTE ! it is very important that the bending of the strips are facing each other.

e G

The Side Tubes plastic shall go out
to the gable edge, as seen on the

picutre. _

The Middle Tubes Plastic strips
shall be further out then the sides.
the lower plastic shall be same as
the sides, but the upper shall go
50 mm over the gable edge.

NOTE'!
2 plastic strips per pocket is required,
thats mean 6 strips per gable.

make an incision in the
tarpoulin and insert the plastic
strips into the tarpoulin.

Screw the plastic strips through the steel
tubes somewhere in the middle of the
plastic strips, see picture for example.

This only applies to the
able with cylinder

Edition 1.1 www.liptop.se

2023

13 info@fliptop.se



El! pto p 621-010 Fliptop AIR

Drill holes in the tarpoulin and mount the rope
clamps on both sides of the gable. Cut the tarpoulin
accordingly to the pictures.

Do this on both sides.

Screwed with M8x20

Edition 1.1 www.fliptop.se
2023 14 info@fliptop.se



El! pto p 621-010 Fliptop AIR

i
E
5
E
LS

Screw the tarpoulin along with the long sides with montage screws (5,5x20 + washer) that came with the
tarpoulin.

CC measurement is recommended to not more than 350mm.

Take away the screws that hold the outer tubes and fit through the tarpoulin.

The tarpoulin shall be smooth on the top side, NB ! At the center of the long side, it is easy to bend the tubes
into the tarpoulin and get a waist measurement, measure the protrusion of the chapel during the tube to the
fitting on the platform to get even tension on the chapel.

Edition 1.1 www.fliptop.se
2023 info@fliptop.se




al

www.fliptop.se

s .\- i ‘___. -

The easiest way to stretch the rope is to open the gable about 100 cm , fasten the rope with the rope clamps.
Then cut the rope to fitting lenght

Edition 1.1 www.fliptop.se
2023 info@fliptop.se




www.fliptop.se

Fl | 621-01 O Fliptop AIR

=
:1;“.
_
e
=
—
b 2

www.fliptop.se
info@fliptop.se

Edition 1.1
2023




El! pto p 621-010 Fliptop AIR

Fliptop AIR is now fully assembled, the system should now be lifted up and mounted on the top of the truck.

Ensure that it is placed at the right place and screw it in all the corners. On the fixed side, 188-569-2 and
188-570-2 is used to fasten the system. On the mobile side screwed the mounting plate, front and rear fixed
with two screws / end (at least M8).

Possibly, it is good to screw through the bottom of the gables by platform edge, and at least two bolts per
corner.

Edition 1.1 www.fliptop.se
2023 18 info@fliptop.se



Fl I pto p 621-010 Fliptop AIR

www.fliptop.se

The simple arch support is monted where the lenght of the tubes make them bend.
The arch support also have an articulated, removable arm that is attached to the movable side tube.

Suitably mounted support in the middle of the platform. Screw or weld the mounting sleeves first, after that
the arm is attached to of the side tube.

Therafter adjust the arc support so that the side tube is in line with the platforms outer surface and tarpoulin
tensioned. Drill and screw down the bow on both sides.

www.fliptop.se

Edition 1.1
2023 19 info@fliptop.se



El! pto p 621-010 Fliptop AIR

When you install the arch support, follow these instructions

When ordering Fliptop AIR with arch support with all tubes connected the center of the tarpoulin fabric
without thimbles, here will the arch support be placed. The tarpoulin should be folded lengthwise until the
outermost tube pockets is uncovered from one direction

(Note that the thimbles must still be faced towards the ground), insert 2 tubes through the tarpoulin into the
arch support (one front and one rear). Pull the tarpoulin further and insert 2 more through the

thimbles and into the arch support, repeat until the arch support is fully connected.

Screwing together the arch support is difficult in this position and is not recommended, wait until the Fliptop
system is mounted before screwing together the tubes and the arch support.

Edition 1.1 www.fliptop.se
2023 20 info@fliptop.se



ptop

I cl Ll ol 6 8 L 9 S 4 € 14
600-129 1Y [SADSD) "|AWIOY | zzzic sy sp+ 1oy e werm oy vosuewg oo Suouos o Jea iy vosuewa oo Suspeg wea
uossiney rupy <pandads
AL A— i JAEAL o o ol ousion | OOV 91N 00 538 e
m XTIW
v BASgE o~ ¢l aw 2-89/Z Ol v : Elad ¢l 1-00-8-081-129 <payioods 20| 4y dojdliy L]
o ootg) ' 4poo) sebud o joutin ipp uvietoy | jouios SPTIW | [z
™ wosua o Busipuey S 00N s 1 vz S€£-006-881 10U [DUSIOW IV 1opulAD oyowinaud L] sy
1 92-001-129 2/12-59) rses 193005 UM Wiy L MOT OLW 20IAN v | se 8/ZINIATIW 9/ZLNIQTIW e | or
v101-129 §x05 ‘mtw‘w_mo%mmmw WIuIor Lz MOT 0ZW 420N L |9 88 I04S 0SXZ W S9W z | v
» 60) 5 ZLW 300/Au v | 88101 STXOLW SIW z |
- UO| LWIDJUIO|
~— veortes #5 | zsizess)areges bmer Lle az-0el-129 0z=AQ felel ud sepulihd R Orey v6 UQ Ly
L0l v “ssLgousers 02%9 49AW 1 | o5
q L-1z9 BuiussopEPUIAD ym uy | L v 8'81994S TIXBW maids uoboxay v | 6
A ) {l 9-801-129 =1 (LieL-ss) arsees IV 91q09 s 0¢XE€2-02-0089M L | oe
OLL- (00 2X09%09 401~ (%)
° 1 acoLlL-1ee -2/12-SS) drsses 5did 10} 195005 Yim Wiy L 9 1-601-129 Awmﬁmmmw 193008BUIUIN YIM Wiy 1 e
el ZIEl £
y— S-LL1-129 s _wmﬁm 2 IV 199019 JOPUIAD L]z VIrel-1z9 Oureezs | 1edopig lepuko soupgsig | L | Z€
9LL-129 0z=Aq __|szu0ig Buupag uil Buuoog s |8 vL1-129 se=AQ doy JepullAo Jip 8ouUD}sIa z | e (S:2) a
.ﬁ d -911- =Aq azuo.g Buupag ul Bunoa: - -
, { Z911-129 0z=kq mﬁ UDag Uil Z Bbuuoag [ SO SIW Z
o 111129 se=kq -s5) taseezs ol wiys v | ol 00TLN SIW v
O eselley . — HUSLIYODHD BIGOD L s5) conrerzs EX0rX5'8 JoUsOM
szl . Tier ULo - ad Buye
Leeties 02=A0 | sq) zouirsezs | sopuiko uoyoion g punoy | € | €l selies d 2X09%09 BUlidls
1 1-821-129 og=Aa s5) Mww_mkmum WD JSPUIAD UoYDI0Y £811-129 Wwip=| aOW SSES JOPUIAD JID | JUSIYDDHY
9¢1-129 9 9dAL vd Buussis 2-191-129 £1-5S) Arsezs Wi JopUliAD Iy
g 838 g 838 - T -
O a B 510 B TXGEXSTL IS -55) ZOArSEZS TXGEXSTL INAS
I - wiwy uid-y
- '8 IRIS M310s doD posH
SYXCIW
p— SYXCIW
O |
wnyog
uwion
S uopinpoid 19) PURMPOD
Z1 Jespaio ) e
o 2 4 @/
5 1)
1 A , = ) q
— 1 [
= N
0 0|
?O :
H \ 58 2 °©
= d
aspain| z1
° coa® oo (O) o )
o O
: B ©
r e
9 14
mm\ \ S
[oo] w | wnea | S =e o
[4 Ll ol 6 8 L 9 S I4 € 4

www.fliptop.se

8V OYSIUDYOIN SDIBIDW JO UOSSILIE 10U ‘2500 AUD 10}

‘POUeL AuD Aq ‘wiio} AU Ul PEINPOIda) 5G 10U Ao “Josieuy sod 10 ‘BUMDIP S

www.fliptop.se
info@fliptop.se

Edition 1.1
2023

21



top

I cl | Ll | oL | V4 8 | | 9 | S | € | 14 | | R
T200-129 T |IBADD) |ezic tgrov+ e 9L1-129 I Buubo] S |6 H
oISy aurupy - =
62-80-80, soOON 08535 SLI-129 § DSIAY paL Wiy 1|8 :
gl BupuDUSAIL - BupT - PSIAY paW Wiy L L i
v|BA 95y 7 ~ SU[IW 0-89/Z OSl [2% erilie ¢OuR i
o ol ooxg] " ypoo)| sebuSTo joutin ipb uoietoy | iouos — oas 1 :
900-129 30} AD BUIUSD] 1 | sz ceL-ey A :
1 1-611-129 z Buluspyu Lz cell-ley ¢19hP9 LS 3
| ©X2U SRIZIW OXOUGSRT Z LW B z-0l1-129 ¥ DSIAY PaW Wiy Ly g
A v N-ZIW-1150L OSI Jaynwispy 14 zol-129 BupT - Wiops] L € H
N-8W-0¥0Z OSI JopnWsRY 8 S e R g
[ N-09 XZLW - Z10¥ OS! ANBSUDHXS | ;
8 N-0S X ZLW - ZLO¥ OSI ANDISUDYXOS B Z-001-129 DSAU PaW Wiy [ g
- DGV XZTIW - £L0¥ OSI ANDISJUDAXSS z uoisuswIq / JSWWNURNILY Buuwguag vy [ aujeq W
oy N-GEXZLW - Z10V OSl ANBYSUDYXS I TENE ¢
1 — DO-0EXTIW - ZILOY OSI ANDSUDAXS 9
N-5'% L-0ZXBW-8£98 O ADjSUBOA 8
ﬂ T 2Xe1x8T oYoug 9
’ K o 8- 680/ OSI BUSOM oYoug 3
1z9 Buwhs [
O 129 08 loxv e [ nl 7
— 129 ¥ Buispul L st |
\ | §z1-129 g1 suoisia E ,
O LL1-129 0L suosia [
d 2911-129 Z Buubon z | ol
- UOISUBL] / JBUILUINUIYY Buwgueg wy | area
O |
4
B |
o 0
M | @ _
) _ = | ]
v v q
O
S09¢ - 0¥SC
H H
_. I - S - B —H—
r r
By |

www.fliptop.se

L

‘POUJBW AuD Ad “wio} AUD Ul PeNPOIde: 59 10U AW J0BIBL SO 10 “BUMDIP UL

www.fliptop.se
info@fliptop.se

Edition 1.1
2023

22



621-010 Fliptop AIR

top

www.fliptop.se

0l 6 8 L 9
2-€00-129 UD(Q) PaW POISIIW Q _o Q _
UOISIADY Jurupy —
6C-01-€1Q¢ HoIesIUDAIOD = H _
H Jog Bupuoyagis B —
BY9e7c o~ oLl e 0-89/¢ Ol AR
PIA Joyuwolix DJOXS P09 sebup fe jouuD IPp supIS|oL JouwIo4 POy “JSUOY
Uy uolsuswig |ouUSIOW Buuwpuag Juy | autleq
B 453!
961-129 -Ss) wmo_w_mﬂ_mmmm AIOASAHOISHW L L
£61-129 ) wow_ﬂmmww WIDPQIS IOGPUA L 4
_ zlel
S61-129 59) w@mmﬂmmmm WIDPOJS IDQBUDAS 94504 1 [}
00| - - zlel
z-0e1-129 0z=AQ -53) wNo_mmﬁ_mmmm JopuljAo yuuds L 4
861-129 -55) ZOArSEzS OPIS POUDS WID)SRS L S
€0¢-1¢9 WDS|IRYLOW 1 9
(41
) mmo_mﬁ_mmwm wwy suuidxos z /
¥0Z-129 00L=1 -55) ZOArSETS EXCED 1QY 4 8
wnipg
UWDN
uopinNpoId J . PUeLAPOD
@/ @/@mﬂ\@
il
a ] [ I il I [ T L D
E
2 @ [
] \\ ]
Tnooi | 7 wnoq 7 Buupuy T:L ;zi
0l 6 L 9 4

gV DSIUDNSW SRISIRPW JO uossiuuad jnoyiim ‘esodind Aup 1oy

‘poyjaw Aup Aqg ‘wioj Aub ul peonpoidal 8q Jou Abw ‘Joassy) sppd Jo ‘Buimpip syl

www.fliptop.se
info@fliptop.se

Edition 1.1
2023

23



621-010 Fliptop AIR

top

www.fliptop.se

ﬁ\\ ot | 6 | 8 | L | 9 /A .
¥00-129 Buiul Liw N4 nu hu "9 sz
oy s _ mu# __nm <
T_ . Riel Bupuoyagia . -. T_ mw
BXz96e | ~ [ 0-89/2 Of eV e 82
PIA JoYUWIRlA [l “4Po9)| sebup [ jouun Jop SUDISI0L jowog POy “4suoy £g
urpy uolsuswig |ouajowW Buluwpuag Juy | Jugeg mHW
L 902-129 (L1EL-SS) ¥reees PQ4s paW WD HOY L L lmm
£02-129 (L1E1-SS) ¥reezs PQ}s uojn wip Bup] L 4 mw
80Z-129 (L1E1-SS) ¥reezs POJS POW WID HIOY L | ¢ mw
9 602-129 (Llel-ss) drgezs POIs paw B0js J5UDT Ly ol
olz-1z9 (L1EL-SS) ¥reees o sBPISIOAQ L S mm
L1z-129 ULDS[IRUIOW L9 gg
| 9LL-129 0z=AQ  |ozuoig Buupeg Uil Buubo] 9 / lwm
z61-129 080 (LLEL-SS) ¥rsezs 02X08@ supisid z | 8 23
. (LLEL-SS) argees ZLW DXOUCUSSSOION vl | 6 g
4 SEXTLW S94W L | ol 4| 2
ZLW X00AN 9 |1 3
vél-leo _oﬂbvo_tww._wwﬁ >2v_mm_wmommm§§@m L 4 W
8'8 IS 09XTLW S9W z | el
8'8101S 0LXTIW S9W z |l
8'8 IR4S 0SXZLW S9W R
3 S0z-129 (LLEL-SS) ¥reees Bojs W L | 9L E
ad d
— = (S == 4 = |
— by =
o) T = 2
4 } 4
L)« __
v \4
k wnjoq k Buupuy TEL N *
0l [ 6 [ 8 [ JA [ 9

Qo QO
2
oo g
o O
N
==
s &
5

[
=

-~

@\

Edition 1.1
2023



L:II pto p 621-010 Fliptop AIR

1 2 3 4 5
| Nr. ‘Anf‘ Andring ‘ Datum ‘ Inf. ‘Godk.|
A A
. A . B
| ~L |
5 L7~ | 5

|
H

|
!
i

: P ‘ T
£
5 F F
£
82 Fliptop AIR 1 Cylinder
gg Fliptop Pneumatic scheme 3.0
§§ G 4 1 Single Acting Cylinder with lock 621-180-8-00-1 G
g% 3 1 Valve
E£ 2 1 Pneumatic cylinder 100/25 188-900-735
$8 1 2 Throttle valve 188-459
£2  |Pos|Number Description Art. nr.
g’ﬁ Konstr. Ritad Format Tolerans ddr annat ej anges  Godk. Skala Ytidmnhet Vikt
5% h R.J AC A4 ISO 2768-C BJ 1:1 ~ kg H
2;" ] - Ytbehandling DOLQO_OQ_] 7
ég Fl I ptop Phneumatic scheme Rifr.nr Revision
- o 2 3 4 5

Edition 1.1 www.fliptop.se

2023 25 info@fliptop.se



L:II pto p 621-010 Fliptop AIR

1 2 3 4 5
| Nr. ‘Am‘ Andring ‘ Datum ‘ Inf. ‘ Godk. |
A A
B
C
D
E E
0§ @\w \ | 1 / V\A
:oF a | TTT o F
5 P ‘ T
%é Fliptop 2 Cylinder MULTI
“§§ Fliptop Pneumatic scheme 3,2
3=
§§ G 4 2 Singe Acting Cylinder With Lock 621-180-8-00-1 G
23
e 3 | Valve
§§ 2 2 Pneumatic cylinder 100/25 188-900-735
83 | 1 4 Throttle valve 188-459
£3  |Pos|Number Description Art. nr.
g§ Konstr. Ritad Format Tolerans ddr annat ej anges  Godk. Skala tidmnhet Vikt
59 R.J RJ A4 ISO 2768-C BJ 1:1 ~ kg
58 H . Ytbehandling Dat. H
£3 \ Pneumatic scheme ' 23-10-23
% g I p 0 p M u L _ti Ritn.nr Revision
- o 2 3 4 5
Edition 1.1 www.fliptop.se

2023 26 info@fliptop.se



L:II pto p 621-010 Fliptop AIR

This sign should be pasted on visible!

[
® Do not
maneuver
without
surveillances !
www.fliptop.se Warning !

Must be secured with straps in strongwind ! ' C€x&%E

Edition 1.1 www.fliptop.se
2023 27 info@fliptop.se



EII pto p 621-010 Fliptop AIR
CE-DECLARATION

Manufacturer :

MALERAS MEKANISKA AB
INDUSTRIGATAN 1

382 76 MALERAS

SWEDEN

Hereby declare that the following equipment:

Fliptop Air
Nr: 621-010

Is made in accordance with regulations of the European Machinery Directive 2006/42/EG

MALERAS MEKANISKA AB
INDUSTRIGATAN 1

382 76 MALERAS

SWEDEN

Tel. +46(0)481-31444

2023-08-28

Bjorn Johansson / CEO

Edition 1.1 www.fliptop.se
2023 28 info@fliptop.se



